J CFR
J U ZG
J FYP
K1 E S
P K Z K
D NWZC
I O AR
L TRR
A EYA
R A OA
EBST
L SRZ
E T US
CEZZC
A N AK
F GBO
M A NV
V S S E
V S EH
N OAZC

TU ABRIR (NEGATIVE)

TU ACABAR (POSITIVE)

TU ACEPTAR (NEGATIVE)
TU ACAMPAR (NEGATIVE)
TU ABRASAR (POSITIVE)

TU ABRAZAR (NEGATIVE)
TU ABSOLVER (NEGATIVE)
TU ABURRIRSE (POSITIVE)
TU ABSTENERSE (POSITIVE)

mOoX<2><mMmMmMXZIIODTOXCX»OIrno

Imperative

CSJ S X QHN
EPMACAON
I AT POTFE
B AAAESIV
B BPANANN
I MB G Z O I E
AUTAAVTY
RVRBJERB
KBRVTSAA
AAAWEUOTCA
S TACNEPI
PYASPXCB
MRV TWXKDO
B TEDTUPA I
ESCGABSU
A ETNETSB
KUGRXDSA
R OBAONQOQL
ORBAETON
LERESSEFS

TU ABRIR (POSITIVE)

TU ABORDAR (POSITIVE)

TU ABRASAR (NEGATIVE)

TU ACEPTAR (POSITIVE)

TU ABURRIR (POSITIVE)

TU ABSOLVER (POSITIVE)

TU ACELERAR (NEGATIVE)
TU ABROCHARSE (NEGATIVE)
TU ABSTENERSE (NEGATIVE)

I omxux>»mMmO>» O0OXTVOMNWOIBVTZ2ZXH—<TmIT

LPLANA
WMB G O B
Y UR QAR
R OKKBO
GSYASC
A OB RUH
NRSOTEA
ALEYLT
RHBAVE
CKABAN
WGCRSK
Y KAERM
DROBA I
UHNHEHL
L VESTLF
K STGNB
RUBAON
CEBVNFEF
TWWNRF
BY Z XA I

TU ACABAR (NEGATIVE)

TU ACAMPAR (POSITIVE)

TU ABORDAR (NEGATIVE)
TU ABRAZAR (POSITIVE)

TU ABURRIR (NEGATIVE)

TU ACELERAR (POSITIVE)
TU ABURRIRSE (NEGATIVE)
TU ABROCHARSE (POSITIVE)



Solution

JCFRQCSJSXQHNHLPLANA
JUZGSEPMACAONYWMBGORB

R QAR

0
VI ROKKBI®O

PKZKABBPANANNRGSYASILC

DNWCU

Y

Il .AAT P O T F E |

JFYPA

K

ESGBAAAES.I

MBGZO I ENAOBRUH

OARKAUTAAV.TYRNRSOTEA
LTRRCRVRBJIJERBOALEYLT
AEYARKBRYTSAASRHBAWVE
RAOAMAAAWEOCAOCKABAN

EBSTXSTACNEPJIRWGCRSK
LSRZEPYASPXCBOYKAERM
ETUS EMRV.TWXKOADROZBA

CEZCYBTEDTPA

QUHNHETL

ANAKAESCGABSUETLVESLTF

FGBOVAETNETSBAKSTGNB

MANY XKUGRXDSARRUBAON
VSSEDROBAONOQLECEDBVNF

VSEHCORBAETONCTWWNRF
NOACELERESSFSHBYZXA



